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END TERM EXAMINATION

THIRD SEMESTER [BCA] DECEMBER 2016

|Paper Code: BCA-201

Subject: Mathematics-I1 |

Time: 3 Hours

Maximum Marks: 75

Note: Attempt any five questions including Q no.1 which is compulsory.

Select one question from each unit.

01

Q2

(a) Define (i} ogives, (ii) histogram ({iii) relation between mean, median
and mode. (5)

(b) Karl Pearson’s coefficient of skewness of a distribution is 0.32, its
standard deviation is 6.5 and mean is 29.6, find the mode of the
distribution. (5)

(c) A contractor employs three types of workers — male, female and
children. To a male worker he pays Rs. 200 per day, to a female
worker Rs. 150 per day and to a child worker Rs. 85 per day. What is
the average wage per day paid by the contractor? (5)

(d) Find the two lines of regression and coefficient of correlation for the
data given below: (5)

N =18; ¥x = 12; Ty = 18; Tx? = 60; Ly? = 96; Zxy = 48,
(e} Obtain the dual of the following Linear Programming Problem: (5)
Maximize z = 7x1+5x2
Subject to Constraints:
3x1+x2< 48
2x1+x2 = 40
¥ x,x220

UNIT-I
(a) Find the missing frequencies for the class intervals using the following
data of 150 students given that the mean marks is 65. (6.5)

Marks

students

of | 3 8 11 15 ? 25 40

Q3

(b) Compute quartile deviation from the following data: {6)
x | 10-20 |20-30 |30-40 |40-50 |50-60 |60-70 |70-80
f 12 19 5 10 g 6 6

(a) Suppose that samples of Polythene bags from two Manufacture, A and
B are tested by a Prospective buyer for bursting pressure, with the
following results: (6.5)

Bursting Pressure (16.) | Number of Bags
A B
5.0-9.9 2 9
10.0-14.9 S 11
15.0-19.9 29 18
20.0-24.9 54 32
25.0-29.9 11 27
30.0-34.9 b 13
110 110
(b) The mean of 5 observations is 4.4 and variance is 8.24. If three of the
five observation are 1, 2 and 6. Find the other two. (6)
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